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Figure 36: Areas obey the rule of linearity (keeping the side (x3, y2) constant).
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Figure 37: Three-dimensional box formed from the three rows of A.

-Iu\-(c‘/vtf’etvj o (CQ: (v\o'( nec. Cow 04

I'K <wo eﬂ‘)‘e—f ¥ o Yox o ego.a_Q,‘f[(e
box ®RlaTlew ok 3 volQ =0 (‘)me'(J C(—)



Iw?cv'(au-'( hote o
7 :}ou\_ Luow the @vvevrs oFf « (oo)(/

‘tt\m (am?u‘(‘lmj on‘ \iS a S -eac\j 78N
Cow?u kmj de <
Ex

CL.A)

(x2,¥2) (1,3) Parallelogram

4 1
Area = ‘l 3‘ = ]1

(0.0) Triangle: Area = =

(X1, 1) ©.0)

(&,b)
Figure 35: A triangle is half of a parallelogram. Area is half of a determinant.
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